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void playerTotal_calculator
void dealerTotal_calculator
void _printinterface
void printInterface
void blackjack
void bust
void afterStand
void double_down
void table
void help
void setDeck
void setHand

void shuffle
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Dealer

Dealer's hand

Player's Bet (50 left) : @

Player's hand |

HEYIYE AL (50 left) :
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Dealer's hand | ?? | 10 |

Player's Bet (10 left) : 40

Player's hand | 49 | #6 |

Hit / Stand / Double Down ( 1 /2 / 3 ) :
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Dealer

Dealer's hand | #3 | #10 | v7 | 3 |

Player's Bet (620 left) : @

Player's hand | v9 | v2 | 49 |

SE 390 =EHEeLC.
Game over. YOU WIN!

I
Efl
oy

Hofl =ESH0] A YOl ELIY 4x% X Z StHS =2 SO/ ELItt

olr

w

NESHHEM =21 ™

FHIE Fot=s 20El &x= X2 MERE 1= 40|= =720| Ot} 2atstAEL T
HESHHM O|AMA A=siED0 B2 ST EIUE A 21, MDI2E 20l 2 HICHE 7} Sh= A0 25|
2 YOo{Lt= ZO[RFLY, 3t =ZSLICE
TRE[X| 28t 20| BH7HX| (split) A=E, O|=0f] 2= FARSHOFALIL HZRiSL Tt
3 ol BoF RES Hol= QIEH0|A, HeE B BE200M oldet 2tE o™ HXl= & S0 ot 2 H2
= Eﬁ'LIEf
SEA|2H QIE{HIOIM C2 FRE S Sl 0| Z=HERHT M| SN A e Z2HME= o
™ 3otz & QIASLILE O3 M2 BRAYE A ZELC
e Z2HEE O A3S 719 =2 20|t =2 E|EIE SO0t Ao SUIC



